
Notes on the back story of this document and its 2021 scanning: 

 

The HP-25 was my very first HP calculator. Back in 1975 I was about to enter University and I needed a powerful 

calculator. After being introduced to the HP-21 and RPN by a classmate, I loved the concept and set my sights on getting 

one, but with the money already in hand the HP-25 was announced, superficially similar but with lots of extra 

functionality and programmable to boot, so I immediately got the extra money to buy it. When it arrived, I was awed by 

its quality and capabilties and found the Owner's Handbook a real delight to read, and the many well-chosen, non-trivial, 

useful programs in the Applications Manual were extremely worthwhile to study and learn from them. 

Previously I had written several "programs" (repetitive keystroke sequences) for my 4-function Sears calculator, so I 

rewrote them to run on the HP-25, with satisfactory results. I also wrote down on a notepad a few programs from the 

Applications Manual to study them, document them in my own handwriting and with my own examples, and once fully 

understood, even to go and improve them with my own optimizations or by adding extra functionality. 

Soon enough I was writing and documenting my very own programs for it, which initially were quite simple, as I was 

learning the tricks of the trade on the go, but later became relatively complex, immediately useful to me while at 

University and, best of all, paving the way to writing much more advanced programs for other future calcs by HP. 

In this particular document, I've collected a selection of 40 programs I wrote for it 46 years ago (as of 2021), which serve 

to demonstrate just how wonderful and capable the HP-25 was back then, and the sheer enjoyment of owning it, learning 

from it, and making the most out of it. It made me an HP fan for life and did wonders for my then fledgling programming 

abilities, in the end completely shaping my future professional life for the best. 

Caveat lector: Note that in 1975 I was utterly on my own as far as HP calculators were concerned. I knew nothing about 

PPC, or users' Clubs of any sort, nor any other HP-25 user. Thus, I developed all the programs here in isolation and  

documented them in my own handwriting and of course in Spanish, my native language, as they were not intended to be 

shared with anyone, much less English native speakers, as my English was self-taught and quite rudimentary at the time. 

Also, after 46 years the original pages are quite faded but still readable thanks to Eric's expert processing. 

 

List of the 40 Programs for the HP-25 included in this document  (60 pages in all): 

Aritmética compleja: +, -, x, /, raiz n   (Complex Arithmetic) 

Trigonometría compleja: sen(a+bi), cos(a+bi)  (Complex Trigonometry: sin, cos) 

Evaluación de expresiones complejas   (Complex Expression  Evaluation) 

Evaluación de polinomios complejos   (Complex Polynomial Evaluation) 

Trigonometría compleja: arcsen(a+bi), arccos(a+bi)  (Complex Trigonometry: arcsin, arccos) 

Logaritmo y exponencial compleja    (Complex Logarithm and Exponential) 

Evaluación polinómica: y=a1x6+a2x5+...+a5x2+a6x+a7  (Polynomial Evaluation) 

Polinomio de colocación cúbico en puntos equiespaciados (Cubic Polynomial Fit at Equally-Spaced Points) 

Polinomio de colocación y=ax2+bx+c en puntos cualesquiera (Cuadratic Polynomial Fit at Arbitrary Points) 

Coeficientes para un polinomio de colocación  (Coefficients of a Polynomial Fit) 

Evaluación de un polinomio de colocación   (Evaluation of a Polynomial Fit) 

Ecuaciones x5+ax4+bx3+cx2+dx+e = 0   (Solving 5th-degree Equations) 

Ecuaciones ax+bx2+cx+d = 0    (Solving ax+bx2+cx+d = 0) 

Soluciones enteras para y2 = ax2+bx+c   (Finding Integer solutions of y2 = ax2+bx+c)



Resolución de ecuaciones: Método de Newton (*) (Solving f(x)=0: Newton's Method) 

Resolución de ecuaciones: Método iterativo (Solving f(x)=0: Iterative Method 

Integrales definidas: Método de Chebyshev (Definite Integrals: Chebyshev's Method) 

Derivación aproximada: cálculo de y'(x) (Approximate Derivatives: y'(x)) 

Integrales definidas: Método de Gauss-Legendre (Definite Integrals: Gauss-Legendre's Method) 

Integrales definidas: Método de Gauss-Chebyshev (Definite Integrals: Gauss-Chebyshev's Method) 

Ecuaciones diferenciales: Método de Euler (*) (Differential Equations: Euler's Method) 

Ecuaciones diferenciales: Método de Runge-Kutta (orden 3) (Differential Equations: Runge-Kutta 3's Method) 

Ecuaciones diferenciales: Método de R-K (orden 4) (***) (Differential Equations: Runge-Kutta 4's Method) 

Derivación aproximada: cálculo de y"(x) (Approximate Derivatives: y"(x)) 

Integrales definidas: Método de Runge-Kutta (Definite Integrals: Runge-Kutta's Method) 

Integración de funciones empíricas: Regla de Simpson (**) (Numerical Integration: Simpson's Rule, Discrete Points) 

Ecuaciones diferenciales de 2º orden: y" = f(x,y) (Differential Equations of 2nd Order: y" = f(x,y)) 

Integrales definidas (Numerical Integration) 

Funciones hiperbólicas:  Sh x, Ch x, Th x, e inversas (Hyperbolic Functions and Inverses) 

Integral de logaritmo (Logarithmic Integral) 

Integrales de seno y coseno (Sine and Cosine Integrals) 

Integrales de Fresnel (Fresnel Integrals) 

Integral elíptica incompleta de primera especie (Incomplete Elliptic Integral of the 1st Kind) 

Integral de los errores (Error Integral) 

Distribución normal (*) (Normal Distribution) 

Distribución normal inversa (**) (Inverse Normal Integral) 

Factoriales exactos (*) (Factorial) 

Combinaciones mCn  (*, last example is mine) (Combination) 

Permutaciones mPn (*, 3 last examples are mine) (Permutation) 

Ajuste por mínimos cuadrados (**, lin/exp/log/pow fit in one prog) (Linear/Log/Exp/Pow Regression) 

Notes:    * = written by HP, the examples are mine. 

   ** = based on HP program but optimized by me and the examples are mine. 

   *** = written by Fernando del Rey. 

   I hope you'll enjoy them ! 

         Valentin Albillo, 23-09-2021 
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